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Sidleyemrsst : (1) mansg elenmssEnn Flurs Héal ufeurdl o GTeTsT 6TemLISmen
sflurr$gs Oararerayb. HFsLUSeded GapuW@mldar sps
samsTenilureriiLLd 2 | anguwirs Qafleflésa.

(20 Beob sy soUY owllema wlGCw  erEpFHUSHGD
2 &ECaTyrhaghEb vuaUuhss CalamBL. LLKSEH Ui hd
Quendléd LiLeBSSeyb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Ol . @euslannggrer BNewE LGHSmer CETRTL 8.

Note : This question paper contains four parts.

UGS - I /PART -1
GOy : () Semensg NamssErsEn e wealldseab. 14x1=14
(i) GsrHssuul@eter wrpm elenL sefld Waad ghyerw efenullenang
Cerplshsss GMuILGrear el udamanyd CEiggl er(pseLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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n(AXB)=6 wombd A={1, 3} erafle, n(B) g

(=) 1 ()2 @3 (™
If n(AXB)=6 and A={1, 3}, then n(B) is :
(@ 1 (b) 2 () 3 (d) 6

f:A->B yang @mUmE Ty Wwomb n(B) =7 erafleh, n(A) eng

(=1) 7 ()49 (@)1 (/) 14
If f:A—B is a bijective function and if n(B) =7, then n{A) is equal to :
(@) 7 (b) 49 © 1 ) 14

1 apsed 10 euenruiemer (@QITemnT(h eTETa@HLD £ L L) DNEIHS 6TemTHeTTaD U@L (LD
WiEES D eretsr

(<=y) 2025 (<24,) 5220 (@) 5025 (rr) 2520
The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :

(a) 2025 (b) 5220 (¢) 5025 (d) 2520

@ Fl (s Qerim euflepsulico 31 2 mULsET 2 aTeTe. ST 16 -eud 2 Mty
m erafled, psG sl (B QaTLT cuflengulier 2 6mem ereveom 2 mliLsetlan sbhged
(<) 16 m (<24) 62 m (@) 31 m (rr) 5 m

An A.P. consists of 31 terms. If its 16" term is m, then the sum of all the terms of this A.P. is :

(@) 16m (b) 62 m (c) 31m d S m

464 -5 (P &SNS WwrHD YereupeuareupmieT erengsd sal L GeuamBib ?
(<24} 4x? (<) 162° (@) 8x* () —8x2
Which of the following should be added to make x*+64 a perfect square ?

(a) 4x? (b) 1l6a° () 8x2 (dy —8x?
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g Crflw FLETUTL g6 auaTULLD (b S GLD.
(1) Crir&Gan( (<=),) eulL_ID (@) ureueperwid  (FF) <i$l LT aUeETUILD
Graph of a linear equation is a
(a) straight line (b) circle (c) parabola (d) hyperbola

AABC -udé DE|BC, AB=3.6 Q&.18, AC=2.4 GQ&.5 whmbd AD=21 Q&8 eraflen,
AE -ufer fBemb

(<=1) 1.4 Q&5 (=) 1.8 Ge&.8 (@) 1.2 Qs.8 () 1.05 Q&8
If in AABC, DE||BC, AB=3.6 cm, AC=24 cm and AD=2.1 cm then the length of AE is:

(a) 14 cm (b) 18 cm {c) 12cm (d) 1.05cm

ailLgder Qaefiuypl yerafiulladl®hal aul LsHneE apsmer AgrhGasr@ae

eUENTLIeMLD ?

(<ot} o) (=) @rewt(®

(@) pigeudy eTarTaniEmns () L@ewid

How many tangents can be drawn to the circle from an exterior point 7
() One | (b) Two

(¢) Infinite (d) Zero

(=5, 0), (0, —5) whHmb (5, 0) P& LaTeNsarmé oienn&sIL{Hib p&CaTanTE I e
Ly

(1) 0 & DVEGSET (=) 25 & DG

(@) 5 & Sw@GHer (/F) 10 & BHOGSHET

The area of triangle formed by the points (=5, 0), (0, -5)and (5, 0) is :
(a) 0 sq. units (b) 25 sq. units

(c) 5 sq.units (d) 10 sq. units
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10.

11.

12.

13.

X MARCH 2024

4
x=a tan® wHMID y=b sech erafle,

2 2 2 2 2 2 2 2
y:_x y K2y Py
X = Y 4 S A | ) L =0

(24) W2 3 (<) 22 (&) 22 (7) 72
If x=a tanb and y=Db secH, then :

2 2 2 2 2 2 2 2

Yy X X Yy X ! x Y
(a) W2 a (b) 7Tz {c) 22 (d) 2 b2

4 Q&8 2 wrepd, 10 G&.0 gy ML apib QaTamL gpeh CoTeul L 2 (Henerudlen
eueneTUIrLIL :
(<31) 40 7 &HT DHOGSET (<21) 20 7 B&IT HVGSHET

(@) 14 7 FHT OGS (FF) 80 7 S&IF HOGSHET

The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 ¢m is :

(a) 40 m sq. units (b) 20 1 sq. units

() 14 w sq. units (d) 80 sq. units

swwmer L 1d WOHMD 2 WD 2L Ul @F 2 (FeneT, @(h Falbl WDHHILD 6(H
Carengdlen sen Djeaneyseaflen allflsid :
(24,)2:1:3 (@) 1:3:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

(24)1:2:3 (FF) 3:1:2

(@ 1:2:3 (by 2:1:3 ¢y 1:3:2 (d) 3:1:2

QarRssuul L wduysafle ereneu e Hlawpsslulen Hlspgssairs Gmds (piging ?
(®) 1.05

Which of the following values cannot be a probability of an event ?

(=1) 0 (<) 0.5 (/) 1

@ o b 05 (©) 1.05 @ 1
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14. @@ BLBSEG Cauma daLlugherar Hspssalrag % Geuena el &&MD6D

2
Qouusharer Bapssc) 5 eralld, x -Ger dlumrerg :

(1) 2 (=) 1 (@) 3 () 1.5

- o _x N  heiobis 2
The probability of getting a job for a person is 3 If the probability of not getting the job is =,
then the value of x is : |
(ay 2 by 1 () 3 {dy 1.5

UGS - 11/ PART - 11

GO : semauCueyd 10 clamssEns@ el wWellEseb. dfarr aan 28 -&@
SL_L_muong edlenLwefl&Ese L. 10x2=20

Note:  Answer any 10 questions. Question No. 28 is compulsory.
15. AxB={(3, 2), (3, 4), (5. 2), (5 4)} erasfled, A LHMID B -6 Sreturs.

If AxB={(3,2), (3, 4), (5, 2), (5, 4)} then find A and B.

16. f(x)=3x—2, g(x)=2x+k wpmb fog=_gof erafld, k -Ger wlliemLs srams.

If f(x)=3x—2, g(x)=2x+k and fog=gof, then find the value of k.

17. aPxb?=800 erempeuny enwjd @M/ Wleng (pIP&&ET ‘a’ wHmIb b’ -m& SIS,

‘a’ and ‘b’ are two positive integers such that aP xb?=800. Find ‘a’ and 'V’

. 4x2y 6xz°
18. &(HFHGES : X
OEO% - 52 20y4
. 4x2y 6xz°
Simplify : X
phly 2% 20yt
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19,

20.

21.

22,

23.

X MARCH 2024

6

Sleitau(hid (HLigé FLETLIM g6t epabisenan snHge wHPIL AUMmESHLUOET Srams.

x2+8x—65=0
Find the sum and product of the roots for following quadratic equation.

x/zj:l-(éx — 65 =0

@ wallgar 18 18 fAsCGs Qgeny Geanen 24 8 e 6Cs Qsadprer. Qsr_sa
Hlevauilell g Sieulr QMmEED grammetd STams.

A man goes 18 m due East and then 24 m due North. Find the distance of his current
position from the starting point.

A(—3,9), B(a, b) wpmib C4, —5) erenuian g(m GCamenobs yereflger wHmID a+b=1
erafled, a wHmID b -udleln wElienLs srams.

If the points A(—3, 9), B(a, b) and C{4, —5) are collinear and if a+b=1, then find a and b.

(-1, 2) erevip yemafl aulfl Glaceug;d, gmiey 7 2eoLwgirea CpirsGsri g6

FLOETUTL L& Sreird.

-5
Find the equation of a straight line which has slope a1 and passing through the point

(=1, 2). wasyy o

1 + cos6 . . .
J———————- = cosech + cotd eremLIen QEsetb.
1 — cosb B ‘lﬂ@ o

Prove that Jw = cosech + cot®.
1 — cosb
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24. @@ Haww seorsGasrasdear Sigliuriy 1386 .8 erafld, oigear Cwrssil
LDLILITLIEN & SHTenTs.
If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area.
L
25. oumb 2 B whmid Sigllgiy 250 &.08 QEren gt 2 (Henerulen &6 eTeneudH HTas.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. m.

26. GsrhHssiulL sre|l dtelsensE eida HMID e1§a&E65W L dLeuhmms STeTs.
25, 67, 48, 53, 18, 39, 44
Find the range and coefficient of range of the following data :

on 75

25, 67, 48, 53, 18, 39, 44 %%

27. & GBLLrebnged (leap year) 53 safladlpennsdr SenL Liugnarer Hlspgsey ereren ?

What is the probability that a leap year selected at random will contain 53 Saturdays ?

28. 23 wppw 12 g dHuepdler S Qurey. sraws.

Find the HCF of 23 and 12.

LGS - 111 / PART - 1l

GOILY : aemeuCuignb 10 clarésEnsE oL walssajb. eflam aar 42 -&E
sl L muwns adlenL wel&Esa|Lb. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. A={xeN|l<x<4}, B=[xeW|0=sx<2) O HmILD C={xeN|x<3} erafl e,
AX(BUC)=(AxB)UAXC) erertuang sflumTé&seab.
Let A={xeN|[l<x<4}, B={xeW|0=x<2} and C={xeNjx<3}. Then verify that

A X (BUC) = (A X B)U(A X C).

[ $muys / Turn over
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30.

31.

32,

33.

34.

X MARCH 2024 .

A={0,1,23} wpmid B={1, 3, 5,7, 9} eremies @)(h SERTBIGET cTens. f:A—B erayb FTiL
f)=2x+1 erenr§ Garhidasiil [Rereng. @FrTrdeameans Clereamm(H

() bYEGH UL (i) <L cuenemr
(iii) euflengs Comqsailen sewrd (iv) euemruLLD
g flucuperns GblasHeyd

Let A={0, 1, 2, 3} and B={1, 3, 5, 7, 9} be two sets. Let f:A— B be a function given by
f(x)=2x+1. Represent this function

(ij by arrow diagram (i) in a table form

(iii} as a set of ordered pairs {itv) in a graphical form
Fa(hged smawra @ P +10%+......... 213

Find the sum of 9°+10%+......... 213

64x1 ~16x3 + 1722 = 2x +1 GTEILISET GUITESAPEOLD &TETS.

Find the square root of 64x*—16x>+17x>—2x+1.

[%_qm cman)

1301
A= {_1 2} erafiah, A?—5A+71,=0 eren Hlmieys.

3 1
If A= [_1 2} show that AZ—5A+71,=0.

Cgevad Capmdens s Hmssad.

State and prove Thales Theorem.
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35.

36.

LR N

.l

37.

39.

X MARCH 2024 o

(=9, —=2), (=8, —4), (2, 2) LEHWL (1, —3) HPHW LeTallHemeT (PEETEETTES Qe
Brasrsdlen LFienus Smems.

Find the area of quadrilateral whose vertices are at (-9, —2), (—8, —4), (2, 2) and (I, —3).
39

A(—4, 2) bppb B, —4) ererm L|GlT6Tﬂ8566‘)6TF G eaTE@Ll owws G555GCETL g6
FWETUTL L& SHTETs.

Find the equation of the perpendicular bisector of the line joining the points A(—-4, 2) and

BO 4. b

Qm sLLOSE swmsmy larsssdea Q@ LssmsalgQIb &SLeld Lweamb
Qelflarmar. Q@ sliudsald(Bhg somsmy darsssiear o FHuliar gpns
Caraniiser weopGw 30° wHmID 45° G shEmT llarssgder 2 WD 200 S
erafler, @) sLiLLSEEEE @l G 2 dreT Cgranaeaneud srams. (/3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse

is 200 m high, find the distance between the two ships. (/3 =1.732)
f—,

45 Qg8 e wrepdter @ QenLssamLgdHen @b LD prmsear wepGu 28 Qg
wHmb 7 QF.15 erafléy, @lenL_ssaim_SHlen Har sieTanad SIS,

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum. % 19

6 Q&8 2rd wHmb 15 GF.8 cwrd Qsrar @@l GBI eull. 2 (HeneT 6uigeull
LTSS TD wppeuginrs Lieflsamlp (Ice-cream) 2.¢Terg). SiBSL LaN&EF TS, FalbL
LHMID HH@TECHTETD @earTh eulgausder HriiutiBEpg. smibifes 2 wgb 9 QF.15
whmbd oo 3 QF.8 aafld, urgdrsde o drar vafldameany BlFruu asamens
F by Cgeney ?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of

ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having
a hemispherical cap. Find the number of cones needed to empty the container.

7722
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40. 24, 26, 33, 37, 29, 31 yfweupdlen wrpur’ (é& Qawpeaes srams.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

41. Qe usmL&a RO wpeop 2 GBLLUu@Seamer. oo UsamLuled (ps wdiiy
Griemil ueL eram sidag s wilLsald mBse 8 -ss e liLghaTer
B&pEEaens STes.

N ﬁ/g;g Two dice are rolled once. Find the probability of getting an even number on the first die or
g the total of face sum 8.

42, THT7+777 % s eremm Ggmi euflensuflen n e pilisallen smpsd Frans.

PN Find the sum to n terms of the series 7+77+777 + ..............

A (1o
A
UGS - IV /| PART - IV
GO @ emengg ollamssEns@n eflanwelsab. 2x8=10
Note : Answer all the questions.

43. (1) PQ=45Q8.165, |R =35 wppb 2 &8 R -uledimpg cuenpulivn L pHECST .60
Berd RG=6 G&.5 eranr emwwjwmmy APQR euenrs.
SI6V6VE)
{(<=4)6 Q&8 L qpdrer eul L b cuenrphg eul L Hler evwowsHedmbs 8 G
Qgrenaeiier P eranm ysreflenwis @léseyn. Sitiyaraluded hbg PA wHmibd
PB ererrp QI QarQGasrpiseT cuanyhg eubdlen Barhisamer ierel(Hs.
(a) Construct a APQR which the base PQ=4.5 cm, {R = 35° and the median RG from R to
PQ is 6 cm.
OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.
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a4, () y=2x2—3x—5 -6 UL euenThgl, wFean’ LweTURSSH 2x2—dx—6=0
ereTp FeTUM_enL g Srdseayb.
SV
() xy=24, x, y > 0 eTetp UDTULSMS cUadF&. euaTLILSangll LwenLBibd,
@ x=3 aalld y -& srans.
(i) y=6crafledb x -m& Frass.
(@) Draw the graph of y=2x2—3x—5 and hence solve 2x2—4x—6=0.
OR
(b) Draw the graph of xy=24, x, y > 0. Using the graph find,
() ywhenx=3and §
(ii) x when y=6. “ 7 M

-00o0-
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